I. The graph of the function

y = ,) — 43

can be obtained from the graph of y = Dz by
(a) a stretch parallel to the y-axis followed by a translation parallel to the y-axis.
(b) a translation parallel to the z-axis followed by a stretch parallel to the y-axis.
(¢) a translation parallel to the z-axis followed by a stretch parallel to the z-axis.
(d) a translation parallel to the z-axis followed by reflection in the y-axis.
(e) reflection in the y-axis followed by translation parallel to the y-axis.
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